IONIC AND NET IONIC EQUATIONS

Recall:
1.  Substitution in mathematics – how would you solve




3a + b = 5, where a = x+7 and b = 4x – 2?



2.  Like terms in mathematics – what do you do with

a + 3b = 4x + a    to simplify it?

Just as with mathematical equations, in chemical reaction equations, one side of the reaction can substitute for the other side:

Dissociation Equation

Pb(NO3)2(aq) (  Pb2+(aq) + 2NO3— (aq)
Reaction Equation

Pb(NO3)2(aq) + 2KI(aq) ( 2KNO3(aq) + PbI2(s)
Dissociated ions can

substitute for any 
    Pb2+(aq) + 2NO3— (aq)
    

aqueous ionic compound.

Ionic Equation
-the equation written with all aqueous ionic compounds shown as dissociated ions (note that solids have not dissociated!)


Pb(NO3)2(aq)    +    2KI(aq)    (    2KNO3(aq)    +    PbI2(s)
Just as with mathematical equations, where if the same variable is by itself on both sides of the equals sign, it can be subtracted out, in chemical reaction equations, the same particle on both sides of the arrow can be removed.  This produces a NET ionic equation.

Net Ionic Equation

The removed ions are called spectator ions.  They do not actually take part in the reaction.  They continue to float around in the solution as they were already doing.

Write the net ionic equations for the following (steps are on p.342):

a) Na2SO3(aq) + 2HCl(aq) ( 2NaCl(aq) + SO2(g) + H2O(l)
b) Zn(NO3)2(aq) + 2NaC2H3O2(aq) ( Zn(C2H3O2)2(aq) + 2NaNO3(aq)
